
26 Lecture - ENG101

Important Mcqs

1. Which of the following sentences has a subject-verb agreement error?
a) The group of students are going to the museum.
b) The committee has made a decision.
c) The pack of wolves howls at night.
d) Each of the books on the shelf are interesting.

Answer: d) Each of the books on the shelf are interesting.

2. Which of the following sentences has a correct subject-verb agreement?
a) My sister and I is going to the mall.
b) The dogs in the park is barking loudly.
c) The students in the classroom are studying for the exam.
d) The crowd at the game has cheer loudly.

Answer: c) The students in the classroom are studying for the exam.

3. Which of the following is a singular indefinite pronoun?
a) all
b) many
c) each
d) few

Answer: c) each

4. Which of the following sentences has a subject-verb agreement error?
a) The news is not good today.
b) My family are coming over for dinner.
c) The number of students in the class has increased.
d) One of the dogs is sleeping on the couch.

Answer: b) My family are coming over for dinner.

5. Which of the following is a plural indefinite pronoun?
a) somebody
b) everybody
c) nobody
d) anybody

Answer: b) everybody

6. Which of the following sentences has a correct subject-verb agreement?
a) The pair of shoes was left at the door.
b) The group of friends is planning a trip.



c) The team of players are practicing every day.
d) The set of keys was lost.

Answer: a) The pair of shoes was left at the door.

7. Which of the following sentences has a subject-verb agreement error?
a) There is a lot of snow on the ground.
b) The number of people attending the party are high.
c) The news about the storm is concerning.
d) The amount of water in the pool is low.

Answer: b) The number of people attending the party are high.

8. Which of the following sentences has a correct subject-verb agreement?
a) The collection of stamps are valuable.
b) The list of names is long.
c) The herd of elephants are moving through the forest.
d) The variety of fruits are in season.

Answer: b) The list of names is long.

9. Which of the following is a singular collective noun?
a) audience
b) people
c) team
d) committee

Answer: a) audience

10. Which of the following sentences has a subject-verb agreement error?
a) Either of the options are acceptable.
b) The company with its subsidiaries is expanding.
c) The majority of the employees is happy with their job.
d) All of the equipment is working properly.

Answer: a) Either of the options are acceptable.


